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Bimodal:  n = 1

(a.1)
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Undefined:  n = 309
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Unimodal: n = 861

(a.3)
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Bimodal:  n = 20

(b.1)

F
lo

od
s 

pe
r 

m
on

th
 [%

]
0

20
40

60
80

10
0

10
30

50
70

90

J M M J S NF A J A O D

●

●

●

●

●

●

●

●

●
●●●

●

●
●●

●

●

●

●●

●

●
●
●

●●
●●
●

Cluster No. 2
Undefined:  n = 135

(b.2)

F
lo

od
s 

pe
r 

m
on

th
 [%

]
0

20
40

60
80

10
0

10
30

50
70

90

J M M J S NF A J A O D

●●

●

●
●
●●
●●
●

●●●●

●
●

●

●●●●●●●●

●

●

●●

●●●●●●

●●

●● ●●●●
●●
●●

●

●●●
●
●●

●
●
●●●●●
●●
●

●
●
●

●
●

●

●
●
●
●
●

●
●
●
●●
●●●

●

●

●

●

●

●
●
●
●
●●
●
●●●

●

●

●
●

●
●
●

●

●●
●

●

●

●

●

●

●
●

●

●
●
●●

●

●

●●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●
●
●

●
●●
●●
●●

●

●

●●

●●

●

●

●
●

●
●●
●
●

●●

●

●

●

●

●
●

●
●

●
●
●●
●
●●●●

Cluster No. 2
Unimodal:  n = 393

(b.3)
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Bimodal:  n = 24

(c.1)
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Unimodal: n = 604
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Bimodal: n = 29

(d.1)
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Unimodal: n = 184

(d.3)

F
lo

od
s 

pe
r 

m
on

th
 [%

]
0

20
40

60
80

10
0

10
30

50
70

90

J M M J S NF A J A O D

● ● ●
●

●
●

● ●

●
●

●

●

●

●

●

●

●

● ●
●

●
●

●

●●

●
●

●

●

●

●
● ● ●

●

●

●

● ●

●

●

● ●
● ● ● ●

●

Cluster No. 5
Bimodal: n = 4

(e.1)
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Unimodal: n = 249
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Bimodal: n = 1
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Unimodal: n = 199

(f.3)


